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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2014 C L«X, 2015 
%UÔX›◊Tˆ ( Economics ) 

B◊¨K˜Eı YÁPˆy‘] ( Elective ) 
ªT ˆTˆ›Ã^ Yy ( 3rd Paper : Statistical Technique ) 

a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) aÁÃ[˝S›Ã[˝ ◊[˝◊\ˆ~ %e`m◊_Ã[˝ [˝SÔXÁ ◊VX* %Á„Y◊l˘Eı 

Y◊Ã[˝aeFÓÁ A[˝e Y◊Ã[˝aeFÓÁ HX„±ºˆÃ[˝ ]„W˝Ó YÁUÔEıÓ 

◊XÃ[˝÷YS EıÃ[˝”X* 10 + 10 

 (F) ◊[˝„l˘YS ◊ªJÙy Eı› ? ac˜G◊Tˆ mSÁ„·¯Ã[˝ W˝]Ôm◊_ =‰{F 

EıÃ[˝”X* ]ÁXy‘] ac˜G◊Tˆ mSÁ·¯ ÂEıÁXÀ ÂEıÁXÀ Âl˘‰y 

[˝Ó[˝c˜÷Tˆ c˜Ã^ ? 4 + 8 + 8 

 (G) V«◊ªRÙO ◊X\ˆ¤Ã[˝S ÂÃ[˝FÁÃ[˝ %‹ôˆ[˝Tˆfi ÂEıÁS◊ªRÙOÃ[˝ Y◊Ã[˝]ÁY 

ªJÙ_V«◊ªRÙOÃ[˝ Â\ˆV]ÁX A[˝e ac˜G◊Tˆ mSÁ„·¯Ã[˝ aÁc˜Á„^Ó 

Y“EıÁ` EıÃ[˝”X* EıFX Ac˜O ÂÃ[˝FÁ V«◊ªRÙO %◊\ˆ~ c˜„[˝ ? 

EıFX AÃ[˝Á YÃ[˝&„Ã[˝Ã[˝ _∂ëˆ c˜„[˝ ? 12 + 4 + 4 

 (H) a+…SÔ a]›l˘ÁÃ[˝ T«ˆ_XÁÃ^ X]«XÁ a]›l˘ÁÃ[˝ a«◊[˝W˝Ám◊_ 

[˝SÔXÁ EıÃ[˝”X* ÿôˆÃ[˝◊[˝XÓÿôˆ a]aïˆ[˝ X]«XÁ aeG–„c˜Ã[˝ 

Âl˘‰y Y“E ırÙ [˝∞RÙOX A[˝e a]ÁX«YÁ◊TˆEı [˝∞RÙO„XÃ[˝ 

W˝ÁÃ[˝SÁm◊_ [˝ÓÁFÓÁ EıÃ[˝”X* 10 + 10 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) =VÁc˜Ã[˝„SÃ[˝ aÁc˜Á„^Ó "YÃ[˝&Ã[˝ [˝ÓÁ◊Tˆ„Ã[˝Eı› HªRÙOXÁ' A[˝e 

"YÃ[˝&Ã[˝ m¨K˜ GPˆXEıÁÃ[˝› HªRÙOXÁ'-Ã[˝ W˝ÁÃ[˝SÁm◊_ [˝ÓÁFÓÁ 

EıÃ[˝”X* `Tˆ¤ÁW˝›X aïˆÁ[˝XÁÃ[˝ aep˚Á ◊VX* EıFX V«◊ªRÙO 

HªRÙOXÁ ÿëˆTˆ‹óˆ c˜Ã^ ? 6 + 3 + 3  

(F) Y“ÁEÀıEı_X [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? _◊Húˆ Â\ˆV]ÁX  

%Yl˘YÁTˆ› Y“ÁEÀıEı_„EıÃ[˝ W˝ÁÃ[˝SÁ◊ªRÙO =VÁc˜Ã[˝Sac˜ [˝ÓÁFÓÁ 

EıÃ[˝”X* 4 + 8 

(G) ^◊V A, B C C Â^ ÂEıÁ„XÁ ◊TˆX◊ªRÙO HªRÙOXÁ c˜Ã^ Tˆ„[˝ 

Y“]ÁS EıÃ[˝”X Â^ 

 )()()()( CPBPAPCBAP ++≤∪∪  
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(H) aïˆÁ[˝XÁ \ˆÃ[˝ %„Yl˘Eı A[˝e aïˆÁ[˝XÁ HX±ºˆ %„Yl˘Eı 

Eı› ? Ac˜O V«c˜O %„Yl˘„EıÃ[˝ È[˝◊`rÙÓm◊_ =‰{F EıÃ[˝”X* 

    

(I¯) VÁ„]Ã[˝ a…ªJÙEı aeFÓÁÃ[˝ aÁ]t„aÓÃ[˝ V«◊ªRÙO ◊[˝ªJÙÁÃ[˝ =‰{F 

EıÃ[˝”X* Y“]ÁS EıÃ[˝”X Â^ ◊Zı`Á„Ã[˝Ã[˝ %ÁV`Ô VÁ] a…ªJÙEı 

V«◊ªRÙO ◊[˝ªJÙÁÃ[˝c˜O Â]„X ªJÙ„_* 6 + 6 

(ªªJÙ˜) Y“]ÁS ◊[˝ªJ«ÙÓ◊Tˆ A[˝e ªJÙT«ˆUÔEı ◊[˝ªJ«ÙÓ◊TˆÃ[˝ aep˚Á ◊VX* Ac˜O 

V«◊ªRÙO ◊[˝ÿô ˆ◊Tˆ ]ÁY„EıÃ[˝ T«ˆ_XÁ EıÃ[˝”X* 6 + 6 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) %ÁÃ^Tˆ◊ªJÙy C ÿôˆïˆ◊ªJÙ‰yÃ[˝ ]„W˝Ó YÁUÔEıÓ [˝ÓÁFÓÁ EıÃ[˝”X* 

(F) ]W˝ÓGÁ◊]TˆÁ [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? m„SÁw¯Ã[˝ ]W˝ÓEı A[˝e 

c˜Ã[˝Á±¡Eı ]W˝ÓEı-AÃ[˝˝ aep˚Á ◊VX*  3 + 3 

(G) AEı◊ªRÙO ◊XFg«Tˆ ªK˜hıÁ V«[˝ÁÃ[˝ ªJÙÁ_Á c˜„_ aeFÓÁm◊_Ã[˝ 

Â^ÁGZı_ 7 c˜[˝ÁÃ[˝ aïˆÁ[˝XÁ EıTˆ ? B Â^ÁGZı_       

11 c˜[˝ÁÃ[˝ aïˆÁ[˝XÁ EıTˆ c˜„[˝ ? 3 + 3  

(H) Â\ˆX ◊ªJÙ‰yÃ[˝ aÁc˜Á„^Ó V«◊ªRÙO m‰¨K˜Ã[˝ ae„^ÁG A[˝e ÊªK˜V 

[˝ÓÁFÓÁ EıÃ[˝”X* 3 + 3 

(I¯) ÂEıÁXÀ ÂEıÁXÀ `„Tˆ¤ ÂYÁÃ^Áag ◊X„[˝`X ◊•YV ◊X„[˝`„XÃ[˝ 

a›]Á◊‹ôˆEı Ã[˝÷Y c˜Ã^ ? ÂYÁÃ^Áag ◊X„[˝`X [˝Ó[˝c˜÷Tˆ c˜„Tˆ 

YÁ„Ã[˝ A]X V«◊ªRÙO Âl˘‰yÃ[˝ =VÁc˜Ã[˝S ◊VX*  

(ªJÙ) Y“Eıî ◊[˝ªJÙÁÃ[˝ [˝_„Tˆ Eı› Â[˝ÁMıÁÃ̂  ? aÃ[˝_ Y“Eıî A[˝e 

◊]`“ Y“Eı„îÃ[˝ ]„W˝Ó YÁUÔEıÓ Eı› ? 3 + 3  

(ªK˜) V«◊ªRÙO YÃ[˝&Ã[˝ [˝ÓÁ◊Tˆ„Ã[˝Eı› HªRÙOXÁ ◊Eı ÿëˆÁW˝›X c˜„Tˆ YÁ„Ã[˝ ? 

(L) Y“]ÁS EıÃ[˝”X Â^, ^◊V 1A  C 2A
 

V«◊ªRÙO          

YÃ[˝&Ã[˝ [˝ÓÁ◊Tˆ„Ã[˝Eı› HªRÙOXÁ c˜Ã^ Tˆ„[˝ 
)()()( 2121 APAPAAP +=∪ . 
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English Version 

 

1. Answer any two questions : 20 × 2 = 40 

(a) Describe different parts of a table. 

Distinguish between relative frequency and 

frequency density. 10 + 10 

(b) What is a scatter diagram ? Mention the 

properties of correlation coefficient. What 

are the cases in which rank correlation 

coefficient is used ? 4 + 8 + 8 

(c) Express the angle between two regression 

lines in terms of the standard deviations of 

the two variables and the correlation 

coefficient between them. When will the two 

lines be identical ? When will they be 

perpendicular on each other ? 12 + 4 + 4 

(d) Describe the advantages of sample survey 

over complete enumeration. Explain the 

concepts of optimum allocation and 

proportional allocation in stratified random 

sampling. 10 + 10 

2. Answer any three questions  : 12 × 3 = 36 

(a) Explain with the help of examples the 

concepts of mutually exclusive events and 

exhaustive events. Define conditional 

probability. When are two events 

independent ? 6 + 3 + 3 

(b) What is estimation ? Explain with the help 

of examples the concept of minimum 

variance unbiased estimate. 4 + 8  

(c) If A, B and C are any three events, then 

prove that 

)()()()( CPBPAPCBAP ++≤∪∪ . 

(d) What are probability mass function and 

probability density function ? Mention the 

properties of these two functions. 6 + 6 

(e) State two tests of consistency of price index 

numbers. Prove that Fisher's ideal index 

number satisfies both these two tests. 6 + 6  

(f) Define standard deviation and quartile 

deviation. Make a comparison of these two 

measures of dispersion. 6 + 6 
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3. Answer any four questions  : 6 × 4 = 24 

(a) Explain the differences between histogram 

and bar diagram. 

(b) What is meant by central tendency ? Define 

geometric mean and harmonic mean. 3 + 3 

(c) If a perfect die is thrown twice, what is the 

probability that the sum of points is 7 ? 

What is the probability that this sum         

is 11 ? 3 + 3 

(d) With the help of Venn diagram explain the 

union and intersection of two sets. 3 + 3  

(e) Under what conditions is the Poisson 

distribution the limiting form of a binomial 

distribution ? Give examples of two cases in 

which Poisson distribution can be applied. 

  3 + 3 

(f) What is testing of hypothesis ? What is the 

difference between simple hypothesis and 

composite hypothesis ? 3 + 3 

(g) Can two mutually exclusive events be 

independent ? 

(h) Prove that if 1A  and 2A  are two mutually 

exclusive events, then 

)()()( 2121 APAPAAP +=∪ . 

    


